Bpemsa

3096

3106

1napa09.0010.30

MeHeakmeHT J1K, aya,.BupT., foueHT Lneiitepe C.B.

2napal0.4512.15

OCwubY N16, aya.eupT., goueHT Wnelitepe C.B.

3 napal2.5514.25

TeoplpPek J1K, aya.sunpT., goueHT [3nkesny C.A.

x
=
3
5 nBOOHA32 16, aya,.BMpT., cTapwuit npenos CmupHosa M.A.
3: 4 napal1l4.4016.10 n800WUTanA32 /16, aya.BupT., cTapwuii npenog /lopetm A..
g n800UcnA32 /16, aya.BupT., Nnpenogasatenb Habuynuxa E.A.
c
5napa1l6.2517.55
6 napa 18.00 19.30
Bpems 3096 3106
1napa09.0010.30 OcXyp Cem, aya.r232it, npenopasatenb Hekpacosa /1.B.
2napal0.4512.15 MMTK Cem, aya.r232it, acnupant l'ypHak A.B. OcHXyp Cem, aya.e359it, npenogasatens Hekpacosa /1.B.
x 3 napal2.5514.25 MMTK Cem, aya.e359it, acnupaHT N'ypHak A.B.
z
Q.
E 4 napal1l4.4016.10
5napal6.2517.55
Bpemsa 3096 3106
1napa09.0010.30 Oc*yp /1K, aya.supT., npenogasatens Hekpacosa /1.B.
f& 2 napal0.4512.15 Ct/lutP J1K, aya.BupT., npenogasatens Hekpacosa /1.B.
g_ 3 napal2.5514.25 MMTK 1K, aya.supT., acnupaHT NypHak A.B.
(&) 4 napal1l4.4016.10
5napal6.2517.55
Bpemsa 3096 3106
1napa09.0010.30
= 2napal0.4512.15
% MeHenx Cem, aya.e359it, poueHT LWneiitepe C.B.
Qo 3napal2.5514.25 | e
g MeHegk Cem, aya.r232it, pouenT WWnelitepe C.B.
4 napal1l4.4016.10 Ct/InTP Cem, aya.r232it, npenogasatenb Hekpacosa /1.B. TeopMpPek Cem, aya.e359it, poueHT O3nkesuny C.A.
5napal6.2517.55 TeoplpPek Cem, aya.r232it, poueHT A3unkesuy C.A. Ct/lnTP Cem, aya.e359it, npenogasatens Hekpacosa /1.B.
Bpemsa 3096 3106
g_ 2napal0.4512.15
= 3 napal2.5514.25
E 4napal14.4016.10
c 5napal6.2517.55




